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euch moelule.

Module-l
a. With neat diirgrarn, explain construction and operation of rcfle x Klystron. (10 Itanks)
b. Dcl'rnc and dcrivc an cxprcssion for reflection coelficient when thc: trurnsnrission linc rs

tcn"ninatecl by toad impedence (Zr.) . (06llarks)

c. A trattsrnission line working at RF has {bllou'ing constants. L=9ptl'lim. (' 16 PI'inr thc
lrnc is terminatcd in a resistrve ioad of 1000 Q. Find the reflection coclJicrcut anci standing,
'uvar,'e ratio. (0-l )larlis)

OR
2 (06 Ilarlis)

coct'flcicnt (06 ]Iarl<s)

knr ol' tirc linc. I{ 8 O"

ancl i at W 5000 rari,'scc.

(08 Marks)

3 a. Dcffuc the tbllolving losses in microrvave sio n loss
(iv) (06 Marks)
lti (06 Nlarlis)

syrnrnetry property and Lrnitarv pi'oltcrtv o['
S-paranretcr (()tt ]lartis)

4

OR
r,r. With a neat diagrarn, explain rotary precision phase shifler. (06 \tarks)
tr. What is magic tee'? Explain magic tee iind derive an S-rnatrix. Nlention its application.

(0ti Nlnrlis)
c. trxplain diffcrerrt types of co-axial cclnnectors in micror,,'ave circLrits. (06 \Iarks)

Module-3
a. What arc thc losscs in microstrip lines'/ Explain thc radiation losses. (0tl }Iarks)
b. Showthatthemaxirrrnrclfe-crivcapcrtllreolashortdipolcis 0.ll9ir. (06llarhs)
c. Olrtain the expression lilr inductance, capacitance ancl hence charactcristic irnllctluncc o['a

parallclstrip line. (06llarlis)

OR
a. Derive characteristic inrpedance of microstrip line rvith diagram. (0(r llarks)
b. Using power theorenr find the directivity fur the source with Lrnidirectional cosinc srluarc

po\\/cr pattclx. U(0, t}l) = tJ,,, cos2 0 . (06 Marhs)

c. Ilxplain the following pararreters r,vith respect to antenna:
(i) Directivity (ii) Bearn area (iii) Radiation intensity (iv) Bcanr cI'licicnc1'

(0tl llarlis)

1 of'2

il.

b.

C,

b.

C.
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Module-4
a. Statc arrd explain the por,ver theorent. (06 Nlarhs)

b. I)crivc an cxpre ssion fbr radiation resistance of short clectric dipolc. (08 l{arks)

c. A sourcc has a radiation intcnsity pattern givcn by Li=lJ,,,sin0 fbr 0<0.+ and
2

0 < (r ( 2n . llncl the porver anc'l directivity. (06 t\'Iarlis)

OR
ll. Dcrir,c ln expression and drarv the field pattern ol two isotropic point sources ol same

anrplitucle and phase. (08 N,Iarks)

b. Obtain tltc c.rprcssion lirr field of drpole in gencral 1br the case o1'tlrin lincar antcnna.
(06 ),Iarlis)

c. Iiot' a shor"t tiipolt- | to,lg lind thc- cflicicncy, radiation rcsistance i1'loss rcsistancc is I Q
l-s

antl alsti llncl the (i) MaxirnLrrn eflbctive aperture (ii) flilrciency (iii) I{adiatiou rcsistancc.
(06 I'larks)

Module-5
a. Obtain thc exprcssion fbr radiation resistance of sn'rall loop antenna. (08 \Iarks)
b. Dctet'titinc thc directivity of loop antcnna having raclius 1.0 nr lvhcn it is operatecl at

0.9 lVll'lz. (04llartis)
e . I)i\e uss tltc lirllrru ing:

(i) \'lgi Uda antenna.
(ii) I-og periodic antenna. (0a llarks)

OR
a. Explain llelical geonretry with diagram and practical consicleration for thc nranofillar axial

ruroclc helic:rl antenna. (08 \{arl<s)
b. Dcrivc thc cxpression of far {ield cquation of sn-rall loop antenna, with diagram. (08 },Iarks)
c. lrincl thc radiation resistance o1'a loop antenna rvith diameter 0.5 m operating lreclucncy ar

I N4i{2. (0,1 l\larks)

8

9

l0
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Seventh Se

Time: 3 hrs

Note: Answer any

I a, Explain u,ith block diagram,

b. Explain r,vith relevant

a.

b.
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diagrams

processing.
(10 Marks)
(10 Marks)

(10 Marks)2 a. Explain the process o
b. Define following: and lntensity

(iii) Euclidean cit.v-b1ock distance

3 some basic intensity
equations, discuss
of Laplacian

OR
and quantization,

OR
Codes used to represent a boundary.

(ii) 4-, 8- and m-adjacency

Explain
Witir
1mp

distance (10 Marks)

functions. (10 Marks)

Laplacian of tu,o variables and different
(10 Marks)

OR
lmage g the low pass

(iii ) (10 Marks)

(i) B and Bandpass (ii) Notch Filters
(10 Marks)

(10 Marks)

(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

4a. l)iscuss witl"r relevant diagrams, the

f-ilters (i) ldeal (ii) Butterwofih
Explairr the [ollowing selective lllterb

b. Explain mulli-reso

9 a. Explain
(i)Global

b. Explain se

used in image processing.

based se

Module-S
gmentation. Discuss:
(ii) Adaptive Thresholding

of irnages r"rsing Morphological Watersheds

8

10 a.
h

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
/1 0 Marks)

Explain Chain
T)iscrrss wariott s annroacheq of horrndrrw descrintion

r}rilr}G
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(i) Diode (ii)
b. Explain peripheral

eliminate them.
c. List out different

2 a. Explain

(iii) SITH (iv) GTO (v) TRIAC (10 Marks)
electronic components and equipment, mention 

*I_:;

of power

of power (04 Marks)

characteristic of power transistors and discuss different
BJT with aid of output and transfer characteristic. (10 Marks)

controlled rectifi er with freewheeling
(12 Marks)

60 Hz supply. The load cuffent with

3

4

5a.

b

(i) Harmonic (HF) of input current
(ii) (DF)
(iii) Supply

{

Factor (PF)

l of 2

(08 Marks)
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"' :.;+,$t/!VY. Marks: 100

Seventh Semester B.B. Degree
Power E

$s

Time:3 hrs.

Note: Answer any FIVE full

I a. Draw the symbols and the

operated
with negligible ripple current" If turn ON ratio ofan average value of

transformer is with
1\

angle cr = Calculate:
J



OR
6 a. Illustrate with neat circuit diagram and

voltage controller using phase control. Obtain
phase half wave controller.

b. A single phase half wave AC voltage

voltage Vs : 120 Y,60 Hz. The delay

(i) rms output voltage (ii) input

l7EC73

principle of singlc phase AC
value of output voltage for single

(tr2 Marks)
resistance 5f) and input

It

J

(iii) average cuffent (08 Marks)

with RL load. Derive an

load o,fR:
dete-rlrtiire:

'l:t'

7

8

9

10

a.

b.

a.

b.

Demonstrate the working of step-down

. kffi1

d HY*T

"'i 
41

llt*rs*M

1--ffi

2 of 2

inductor

is Cr=

(T.s) in each cycle of
each cycle.

Outline (06 N{arks)

(08 Marks)
voltage of 12V and ouQut

to peak ripple curent of
(06 Marks)
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(10 Marks)
the following communication channels

network of I km

network.

i)A
delay

through a private

explain

the fo

encoding and decoding principle.
(10 Marks)

images at both 64 Kbps and 1.5 Mbps.
i) A640x480x8
ii) A 1024 x 768 x

5 a. Explain compression principles.
b. Explain static Huffinan coding.
c. Explain JPEG coding principles

24 SVGA_ lmage (10 Marks)

Module-3
(08 Marks)
(06 Marks)
(06 Marks)

OR
Discuss multimedia operating system with respect CPU rnanagement, memory management,

t and file system management (08 Marks)

operating system? (06 Marks)
VO
What

6a.

b.
C. features of a DMS.

1 of2
(06 Marks)

ffiHffiE
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Seventh Semester B.E. Degree Examination, Jan./Feb.2027
Multimedia Gommunication

Tirne: 3 hrs. Max. Marks: 100

1

)

each assuming the
speech and 16 bits
store passage

2 bits per sample for the
the memory required to

(10 Marks)



Module-4

obtained by using subU;and

.:

r7EC74l

(08 Marks)
(06 Marks)
(06 Marks)

(08 Marks)

DPCM with the helP of
(06 Marks)
(06 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

#4\."q
-&v. '%,s

*wry
''%,

les.7 a. With a neat diagram, explain video

8 a. Explain H.261encoding formats'

b. Explain how better sound qu

block diagram of encoder

c. Write a note on audio

9 a. Explain Packet audio 1n

b. Explain video across

c. Write a short

a.

b
c. Wri

b. Explain MPEG- 4 coding principles

c. Explain linear predictive coding.
e ''13h "
Bll S*qs-*
oH'

L"dS{t+

dl 7j@.*Bffii.

Module-5
the network environment.

ATM networks.
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Seventh Semester

Time: 3 hrs.

Note: Answer any FIVE full

1 a. What is Divisibility? Explain the
b. Explain with examples the

c. Write a note on Finite field

2a.
b
c.

a.

b.

c.

4a.
b.
C

le

implementation and AES5

6 a. Explain

a. List and

b. Explain
c. Explain

explain the
the Key-B
the

(06 Marks)
(06 Marks)
(08 Marks)

(10 Marks)
to CT.

(04 Marks)

(06 Marks)
(08 Marks)
(06 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

(06 Marks)

(04 Marks)
(07 Marks)
(09 Marks)

orm

is in AES.
encryption Round stages

b. Write an explanatory note on Linear Feed Back Shift Registers. (10 Marks)

c. Compare different LFSR boxed stream ciphers for its ryptographical weaknesses. (04 Marks)

Module-4
7 a. Find the GCD of (1970, 1066) using Euclid's method.

b. With suitable explanation prove Euler's theorem.

c. Explain Chaises Remainder Theorem and its features.

I of 2

@re$ffi
Jan./Feb.202l

t7EC744

Max. Marks: 100

module.

(06 Marks)
Zp. (D8Marks)

(06 Marks)

sketch,

with
For

&"
"%r

ONE full

algorithm with

GF(P).

explain the svmmetric

question 
.froilt,,oach

Sl..ggqvert

(06 Marks)

Give the text for the plain text

, using cipher. Explain the rules for PlaY

is used

neat block

example,,ftow the
& *

Explain
DES

of Feistel and decryption.

::

'':;.;" OR
nonlinear shift Register.



OR
encryptio n kpf G€neration and Decryption for RSA

(08 Marks)
(08 Marks)

A common prime Q 353 and a

17EC7 44

:233,

Marks)

sr,rmmetric
(08 Marks)
(06 Marks)
(06 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

8 a. Explain the complete steps involved for
algorithm.

mechanism.b. What is Key Management? Explain DH keY

c. Users A and B use the DH keY exchange

primitive root 0 3, If A select Private
:97 andB

then, what is public key Ya of A and Ye. Calculate

9

10

selects private key Xs
shared secret key'K'.
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Seventh Semester B.E. niegree xa

IOT and Wire sss
Tirne: 3 irrs.

Not e: ,4rsn,er ilrq, FIVE fall questtt;:ts, clt

n, Jan./Feb.2O21
r Networks

t7r!c752

IVI:rrks: 100

tnttdttie .

(08 SIarks)
(08 !larlis)
(0.t h'ItrLs)

(08 i\{ a rks)

(06 Nlarlts)
(08 tfiarks)
(06 NIarks)

( t0 h'larks)
(10 N'larks)

(10 Marks)
(10 i\'larlis)

(10 1\larlis)
(ltt iVlarlis)

(10 NIarl<s)

{ l0 Marlis)

(10 NI:rrks)
( I0 N'ln rks)

(10 Marks)
(10 Marks)

ONE.full question
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Io'f/M2M systenl (0B l\{arhs)

developed at CISCO fbr a ciLv.(0-l iVlar!is)

{08 Nlttrks)

and otlrer ncl r,.rorks.
(08 Nlarlis)
(04 Mariis;

a

tr

c

.{.

5

a

I l.i

ln
b. F-xplain

8 a. Explain gatewa
tr. i rprln;, challcn

9 r. I xplain in

b. Explain en

a.

b"

n.

in IoT
{:*

""\
''ll; a'

OR

us ino I-tl\Oins A-rdu" :' 1., ^
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irnd

model.

4
neat diagrarn.
in WSN

OR

llCS requl ts of WSli

WS

OR

ICCS

7
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10 a.

b.
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Explain SMSC protocol.
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Time: 3 hrs.

Seventh Semester B.E. Degree

Note: Answer any FIYE full

I a. Define and explain ttree

b.

explain

With a

3 a. Explain solar

b. Describe the

4a.

b. Briefly explain

5 a. Describe the important p#ameters that

link. 
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Satellite Go

parameters

explain

l7EC755

Jan./Feb.2021

Max. Marks: 100

each module.

of an artificial satellite

(10 Marks)

a satellite orbit with suitable

(10 Marks)

to the'rltnotion

"rLYil:s
,oR

,$,,

eclipse.

(10 Marks)

(10 Marks)

doidtn power

Tele

concepts ofTDtMA

(10 Marks)

system of a

(10 Mrilrk$

of service provided by them and their

(10 Marks)

method in mandatory tests). (10 Marks)

the design of a satellite communication

(08 Marks)

monitoring

1

I
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I
I
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6 a.

b.

8a.

9

10

c.

b. Discuss the

List the

With suitable

a.

b.

2 af?

OR

t7EC755

(10 Marks)

(06 Marks)

(04 Marks)

(10 Marks)

(10 Marks)

(10 Marks)

(06 Marks)

(04 Marks)

(1 0 Marks)

sensmg satellites.

(10 Marks)

(10 Marks)

Explain general TDMA

b. With usual notation, derive satellite

c. Discuss about CDMA.

Define transponder.

used in

sensors used

in satellite,

of over telTestrial network.

satellites remote sensing system.

(1 0 Marks)

{..$s.
''' '{i::i'' li

$'

of

thermal

{. * t "*tilir*l$

fi d*Sh

"r li :P

dlf

7 a. With neat sketches, explain VSAT

sketches, sxplajn

' 
'tt:

applications

.iii

of satellite.

,{* OR

d$

i:,".*i$ii,itr

re,moit sensing system.
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lurit irmctic
(06 NIarks)
(0(r ll:trlis)

(0tl ltarlis)

(06 \larks)
Find (l'*Q)

(0t'l )'lartis)
( (rl). Also

(06 ]larks)

th Semester B.E. Degree Examination, Jan./Feb.202l
Cryptography and Network Security

Max. Marks: 100'l irnc: 3 hrs.

2a

b.

L

I

,j
.2

3
i
a

5
t)
5
2

-=--
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=ta)
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.: al

2 i''
c)
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:-a-a

-a

>'i
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=-7,))

--al

Z
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Notc:,4rrsu'er finy FII/E.t'full questions, cltoosing Ol,lE /full questiottli'orn tut'h ntodulc.

Module-I
a. Explain the proceclure to calculate GCD using Euclicl's algorithnr. i)ctcrminc thc (iCI) ot.

(241.10, 16.762) using ELrclid's algorithm. (()(r tlarks)
b. L,ncrypt the ure ssagc "Work is workshop" Lrsing. plav l'air cipher r,r ith thc kcyboarcl

"COMPLJI'F:ll" ancl clecrypt the cipher text to rccover thc original nrcssagc. (livc thc rnlcs
lbr cncryption ancl deoryption. (08 llarl<s)

c. Develop a set of additivc ancl mLrltiplications tables fur r-noclulo 9. (06 )tarks)

rrial

3a.

b .1)

andC.

OR
a. What are the,l tasks pcrlbrnred in each round of AES cipher? [:xp[:rin. (t)6 ]larks)
b. Liscrs A and Il use thc Dillrc llellman kcy exchangc tcchniquL-. a conlr()n 1-rriurc c1 11 and

a primitive root n: 7 (i) I1'uscr A has private l<ey X1 : 3" What is A's pLrirlrc kcv Y r'l
(ii) lf uscr B has private kcy X,,:6. What is B's public key Ys? What is tirc sitarecl secrct

key'l Write the algorithm as rvell? (()6 llarl<s)
c. Civen the plaintext [000102030405060708090A080C0D0E0F1 ancl thc licy'

[0l0l0l0l0l0l0l0l0l01010l0l0l0l0ll. Shor,v the (a) State uratrix (b) Initial r'ouutl kcv
(c) Sub l3ytes (d) Shili rorvs (e) Mix columns output strltes. (0ti llarlis)

I o1'2

GBG.$i ffiHHMffi



5

6

7

tt

()

N{odule-3
a. I:xpiain N4D5 algorithm steps. Ciornpare it wilh SHA-1,
b. Discuss thc kcy colnponcnts o{'digital signarurc algorithm.
c. t:xplain thc IIN4AC algorithm rvith a neat diagram.

OR
a. F.xplain thc [)iscrcte Logarithm signature scheme.
b. Describc SI"IA 512 algoritrn in detail.
u. lrrplrrirr tlre Iirllou irrg:

(i) IIash firnction and its rcquircnrents.
(ii) ILolc of corripression tirnction in Hash functions.
(iii) l)il'fbrcnce betrvccn weak ancl strong collision resistancc.
( ir ) ,,\rlvantages o1- HMAC ove r other hash basecl sche me s,

Module-4
a. Dcscribc thc {bLrr protocols de flncd by secure socket laycr.
Lr. Explain thc Sccure Shell (SSLI) architecrure.
c. Explain thc various plrascs of It02. I I i.

OR
a. [rxplain thc puraLncters dcljnecl in SSt- connection.
b. IJrinc out thc drl'furenccs lrctr,r,een SSL and'f LS.
c. Ir:rplairt lll"l'PS clcmcnts encrypted connection initiation and conncction closure.

Module-5
a. Hxplain thc serviccs provided by PGP and thc reasons 1br usir-rg PGp.
b. I:rplairr I'irrcapsulating security pay load header.
c. l:.xplain tlre preparation of cnve loped Data S/MIME entiti,. Write the functions o

anci [nhanccd Sccurity Scrvices o1'S/MIME.

OR
a. L:xplain thc lPscc: architccture.
b. l)e:e r ilru tlrc Iirlltrwing :

(i) Difhrences between Tunnel mode and Transporl mode of Ipsec.
(ii) Scope of ESP encryption and authentication.

c. Explain IKE key determination pr'orocol.

*x*.**

17T871

(08 Marks)
(06 Marks)
(06 Marks)

(06 Marks)
(06 Marks)

(08 Marks)

(06 \larksl

(08 Marks)
(06 Marks)

(06 I'Iarks)
(06 )larks)
(0ti llarks)

(06 \Iarks)
(06 NIarlis,t

(0lt IIarks)

(06 NIarks)
(06 NIarks)
1-SiMIMI:
(08 \,Iarks)
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, ,,'' Module-4
With the help of a neat block diagram explain the dilferent approaches to interpletate digital
values required by the sensor. (10 Nlarhs)

Explain br,iefly how remote sensing can be incorporate into each observation project.
(10 NIarl<s)

USN

1a.

b.

2.a.
b.

3a.

b.

4a.

b

5 a.

b.

6a.

b.
c.

Seventh Semester B.E.
Satellite Commun

Tinrr--: 3 lrrs.

Note: Answer any FIVEfull ONE frr I I q uestion .from eoc Ix mo dule.
' 

.,. ri,':.

l:,...

the main iornponents of a remote

it include?
(10 Marks)
(10 Marks)

fi'om satellite sensors, (10 NIarks)
(10 N'Iarl<s)



OR
8 a. With the help of a neat block diagram explain

imagery.
b. Explain in brief about the costs of

irnagery.

17T8',72

for remote sensing
(10 Nlarks)

of satellite
(10 Marks)

criteria,
(101\larks)
(10 \'Iarks)

(12 NIarks)

(08 Nltarks)

end user

9 a. With a neat diagram explain organization of

10 a.
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b. Briefly explain

b. Explain witir a diagram how

analysis.

OR
explain the process formation.

in object recognition.

the elements

iri%olor
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Max. Marks: 100

efich modu.le.

region fbr nMOS
(10 Mar[s)

(06 Marks)

(08 Marks)
(06 Marks)

Marks)
NAND
Marks)

Marks)
Marks)
Marks)

Marks)
Marks)

Seventh Se

Time: 3 irrs.

Note; Answer any

1 a. Derive the expression for in Cutofl Linear
Transistor with neat
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b. Describe with a neat sl(etch

2 a. Compare Cmos
b. Discuss : i)

ii) Mobil
c.

3

4

5

P r,vell process steps to fabricate a CMOS inverter,
, (10 Marks)

OR

6 a. What are
Define

b. Explain neat
il) Carry select

that kept in mind during the design process of VLSI?
for 4-bit and 8-bit barrel shifter (10 Marks)

equations : i) The Manchester CarlY Chain
(10 Marks)

Module-4

OR
I of 2

Find the

7 a. Explain Parity Generator with necessary equations and also draw the stick diagram for

nMOS and CMQS,blocks. (10 Nlarks)

b, With a neat diagram, explain the Architecture of FPGA. (10 Marks)

i",'
. ii,tr,i:yxs'

cMos vLsl



8 a. Explain with neat diagram : i) Dynarnic CMOS 1o

b. Explain Switch logic of a 4 - way multiplexer for
Explain in detail the goals and techniques of

SW itches

l7TE73

S Domino logic. (t0 Marks)
. (04 Marks)

(06 Marks)

on the Ar^ea,

(10 Marks)

(10 Markg

(06 Marks)
(06 Marks)

layor.rt with
(08 Marks)

diagram.neat9
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